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EFETHETRAOR
FRERERAOGIEAZEHZED) {I_'.I\*D4£E1 1 H 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 302 348 388 736
EARI1TH 1,047 1,152 1,266 2418
mAET2TH 1,201 1,011 1,367 2,378
A R ET 2,352 2314 2,609 4,923
BERT1TH 607 584 630 1,214
B ERT2TH 398 395 444 839
B ERI3TH 313 362 320 682
B ERTATH 535 476 504 980
B ERSTH 829 891 891 1,782
I ER6TH 375 395 419 814
HiF = HT 545 580 623 1,203
45 KHT 519 583 619 1,202
HHT 1,000 1,080 1,209 2,289
BEHT 52 52 57 109
A K BT 616 697 720 1,417
7 HT 438 442 458 900
RILHT 454 474 521 995
FORHET 204 184 224 408
RFHT 203 200 232 432
KHET 356 328 367 695
KET1TH 236 236 281 517
XKET3TH 296 343 324 667
XETATH 875 803 985 1,788
fit] LLI BT 2,444 2,751 2,879 5,630
JE LT 992 1,096 1,196 2,292
EHERT2TH 317 456 451 907
EHERISTH 422 520 520 1,040
EHERT4TH 395 466 497 963
EHERSTH 344 392 451 843
EHERT6TH 214 286 280 566
EHERT7TH 168 252 260 512
=Y:i 337 329 368 697
8 [F T 1,659 1,481 1,706 3,187
=i ET 515 539 624 1,163
2l 3t BT 476 568 555 1,123
N =15 101 114 121 235
+HEFRT A 632 628 697 1,325
L EFHTER 847 760 843 1,603
L HAET 1,991 2,152 2,254 4,406
LFH¥ABT1TH 73 121 112 233
LH¥\ET2TH 154 154 176 330




HEZ HH 5 £ i
LH¥AET3T B 150 151 169 320
EHART4T B 167 183 206 389
LHABTS T B 217 266 300 566
I == HT 202 207 229 436
M=rET1TH 559 540 532 1,072
Jn=FRI2TH 555 522 565 1,087
M=FET3TH 427 435 409 844
M=rET4T H 1,084 1,069 1,112 2,181
I S5k T 595 596 665 1,261
I=F5di) 222 207 246 453
Jt B BT 30 36 37 73
B[] 400 358 339 697
fHZaE T 818 918 971 1,889
FHRHET 83 78 95 173
1 2 FF T 357 395 429 824
BEFE1TH 94 118 127 245
BEFE2TH 272 303 317 620
T EHT 131 136 137 273
/N BB T 3,111 3,081 3,288 6,369
1R HT 255 275 295 570
YEZF HT 767 754 781 1,535
EXBI1TH 258 247 260 507
=4 ILHT 218 159 125 284
Hh ek HT 27 27 4 31
Tt AT 11 16 12 28
THHEE1TH 727 646 684 1,330
THHEE2TH 531 553 536 1,089
THHEESTH 860 894 1,033 1,927
TEHE1TH 177 180 168 348
TEHRI2TH 818 751 865 1,616
TEHRISTH 160 175 183 358
TEHRI4ATH 98 111 118 229
TEHRISTH 211 230 237 467
T HAET 578 602 629 1,231
THET1TH 353 344 360 704
THET2 T H 470 430 490 920
TH#RBI3TH 201 194 223 417
THABTATH 155 148 178 326
TH#RBI5TH 167 174 204 378
HAHT 17 16 8 24
T 186 200 181 381
#8)11 BT 46 46 54 100
KTIHT 298 310 337 647
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HEZ HH 5 £ i

7B KHT 1,649 1,626 1,766 3,392
FSIED 262 315 300 615
XLAT1TH 840 738 899 1,637
X#ILET2TH 314 342 367 709
X#ILET3TH 155 152 169 321
1 [ BT 44 67 73 140
hHET1TH 389 423 393 816
hHET2TH 470 467 521 988
hHBEI3TH 455 510 507 1,017
aiEld:) 252 223 274 497
th 2 JEHT 219 201 229 430
ch T 136 131 162 293
TR AHT 776 869 864 1,733
At FAET 884 869 998 1,867
75 K ERET 775 942 988 1,930
75 2 [N HET 1,680 1,812 1,946 3,758
JAHT 907 855 957 1,812
$FHET1TH 533 477 510 987
$FHET2T H 401 386 428 814
¥FHETST B 197 204 223 427
T 166 209 216 425
HET1 T B 387 480 500 980
HET2 T B 346 362 405 767
HET3 T B 360 390 436 826
HET4 T B 122 118 151 269
J\ & T 989 1,050 1,092 2,142
J\ EHHT 158 191 186 377
T 4 BT 248 274 310 584
T A HT 1,624 1,587 1,799 3,386
THB1TH 21 20 18 38
T4HB2TH 1,461 1,338 1,339 2,677
T4HBI3TH 189 173 163 336
THBI4ATH 373 305 371 676
T4RB5TH 928 622 920 1,542
T4HBI6TH 631 614 660 1,274
THBI7TH 345 360 407 767
T4HBISTH 374 387 413 800
THRBOTH 406 443 503 946
THB12TH 238 257 264 521
T+4R13TH 316 356 384 740
AR NBHT 1,952 1,667 1,936 3,603
HARRHET 1,378 1,246 1,169 2,415
H AR KR ET 292 367 380 747
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HEZ HH 5 = 5
E AR ERT 165 167 176 343
- WNEL] 133 116 138 254
FH AR hHT 206 226 262 488
FHARAKHET 436 456 486 942
& AR ElT 320 333 373 706
EHARE)IIHET 278 259 290 549
=N ] 116 122 136 258
FH AR JTHT 99 96 104 200
EARERHE 662 565 641 1,206
B K R HET 380 389 400 789
Edai) 889 877 1,018 1,895
BEFET1TH 756 732 739 1,471
BEFET2TH 599 603 682 1,285
RIS TH 339 404 403 807
AIFTET1TH 431 388 422 810
AIFFRT2T B 593 599 664 1,263
AIFTET3T B 656 741 800 1,541
A HT 181 192 186 378
B LH 251 316 337 653
NER) 798 746 825 1,571
ERL 775 939 939 1,878
= HHE 1,729 1,912 1,968 3,880
HETHRET1TH 568 609 651 1,260
HLIRET2TH 511 586 638 1,224
HLIREISTH 295 364 367 731
P fx T 316 360 385 745
mERI1TH 1,165 1,114 1,263 2,377
mERI2TH 839 944 1,031 1,975
FA T 1,359 1,366 1,528 2,894
= RITET 527 483 534 1,017
= AHT 354 279 328 607
AR#1HT 7 5 4 9
) 506 557 503 1,060
SHET1TH 711 617 779 1,396
S HET2TH 414 444 470 914
aHEI3TH 857 723 882 1,605
S HET4TH 761 619 826 1,445
E& T 1 1 0 1
J\BRET1TH 216 252 267 519
J\BRET2T B 224 224 238 462
J\BRBT3TH 249 304 313 617
1TaHT 299 419 409 828
FHRIBRT1 T H 166 197 201 398
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HEZ HH 5 £ it
FIEIET2 T B 303 429 466 895
FIEIET3 T B 112 180 173 353
EOER1TH 120 182 185 367
FEOER2TH 0 0 0 0
FENDERITH 21 19 2 21

BEE 89232 | 90956 98614| 189,570
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